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Starter – try your calculation here:






Write the definition of break-even here:
[image: ]________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Break-even explained





________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


Break-even








Write a definition of contribution here:
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________




Contribution formula write that here:
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Write the break-even formula here:
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[image: ]Break-even calculation example:
· Lucy sets up a business to print panda t-shirts. The fixed costs are £3000. The variable costs per t-shirt (the t-shirt, ink, wages) are £5. Each printed t-shirt sells for £25.



Calculate how many t-shirts Lucy needs to sell to break-even





Interpretation of break-even charts
	Number of sales (units)
	Total revenue (£)
(sales x £180)
	Fixed costs (£)
	Variable costs (£)
(sales x £120)
	Total Costs (£)
Variable costs Plus Fixed costs

	50
	9000
	12000
	6000
	18000

	100
	
	12000
	
	

	150
	
	12000
	
	

	200
	
	
	
	

	250
	
	
	
	

	300
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Draw your break-even graph here:


Step 8: Interpret your break-even chart

	A
	




	B
	

	C
	

	D
	




[image: ]Margin of safety
What does margin of safety show?

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________





Margin of safety formula, write that here:










Margin of safety
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Add the margin of safety information to the break-even diagram
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Limitations of break-even analysis
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. You sell cricket bats for £25, they
cost £14 to make

. You sell sea shells down on the sea
shore for £10 a bag and they cost
£3 to put together

. You sell red and yellow lorries for
£5 each in your shop and they cost
£1 to import from China
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. You sell cricket bats for £25, they cost
£14 to make, fixed costs are £500

. You sell sea shells down on the sea
shore for £10 a bag and they cost £3
to put together, fixed costs are £1,000

. You sell red and yellow lorries for £5
each in your shop and they cost £1 to
import from China, fixed costs are
£750
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Figure 1 shows a break even diagram for a business.
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Figure 1

The business produces 400 units of output.

(b) Using the information in Figure 1, calculate the margin of safety.
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Extract B

Cost, sales and revenue data for a food producer
Annual fixed costs
Selling price per unit
Variable cost per unit

Number of units sold

£3m

£5

£2

1.5m
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(b) Using the data in Extract B, calculate the margin of safety. You are advised to show
your working.
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Extract D
Britain loves biscuits

Over 6 million Britons enjoy eating a biscuit with their tea or coffee. This has led to new
investment in biscuit production by two major producers, Mondeléz International and
Fox's Biscuits.

Mondeléz International, an American public company, markets brands such as Kraft,
Cadbury and Oreo. It has a budget of £6m for a new production line in its UK factory 5
based in Sheffield. Oreos will be made in the UK for the first time in order to meet the
company’s sales forecasts. The new production line is capable of producing more than

amillion Oreos in 24 hours.

Fox's Biscuits has grown to become one of the UK's leading biscuit brands.
Fox's Caffé Thins are a biscuit created specifically for coffee and it is one of an entirely 10
new type of biscuit.

(Source: http://wwwinsidermedia.comvinsider/yorkshire/90027 and
hittp://www.fdin.org.uk/2013/08/foxs-launches-caffe-
biscuit-range-especially-for-coffee)
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Extract D
Britain loves biscuits

Over 6 million Britons enjoy eating a biscuit with their tea or coffee. This has led to new
investment in biscuit production by two major producers, Mondeléz International and
Fox's Biscuits.

Mondeléz International, an American public company, markets brands such as Kraft,
Cadbury and Oreo. It has a budget of £6m for a new production line in its UK factory 5
based in Sheffield. Oreos will be made in the UK for the first time in order to meet the
company’s sales forecasts. The new production line is capable of producing more than

amillion Oreos in 24 hours.

Fox's Biscuits has grown to become one of the UK's leading biscuit brands.
Fox's Caffé Thins are a biscuit created specifically for coffee and it is one of an entirely 10
new type of biscuit.

(Source: http://wwwinsidermedia.comvinsider/yorkshire/90027 and
hittp://www.fdin.org.uk/2013/08/foxs-launches-caffe-
biscuit-range-especially-for-coffee)
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Fox's Biscuits are considering selling their Caffé Thins at £1.74 per packet.
Fixed monthly costs are £160 000 with variable costs at 53 pence a packet.

(b) Using this data, calculate the monthly break-even level of output for Caffé Thins.
You are advised to show your working.
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Fox's Biscuits are considering selling their Caffé Thins at £1.74 per packet.
Fixed monthly costs are £160 000 with variable costs at 53 pence a packet.

(b) Using this data, calculate the monthly break-even level of output for Caffé Thins.
You are advised to show your working.
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(e) Assess two reasons why break-even analysis might be useful to a business such as
Fox's Biscuits.
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